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BBA/D-19 14585
BUSINESS ORGANISATION
BBA-101
Time : Three Hours] [Maximum Marks : 80

Note . Attempt Five questions w all, €. No. 1 is compulsory.
All questions carry equal marks.
wE ey B S T | W gen 1 et
£ oweh wed & o e ¥

Compulsory Question ( 3TF@ETE 997)

1. (a) State the basic features of Multinational

(Corporations.
sz B C U A ) G
FET

(b} Define Values and Value System.
o #R mEg-sara F afeafen e )

(¢)  What 15 Parmership Deed 7
wEed faera o ? 2

(d) Throw light on various types of Joint Stock

= I L

Company.

T Wi & # fafam wE W e erfer

(2-44/10} L-14585(TR) P.T.Q.
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(e)  Elaborate the concept of Non-Profit Organisation.
%-%ﬂﬂﬁﬁﬂﬁ,ﬁﬁéﬁm%%m_

(fy  Mention the types  of cooperative Jorm  of
organisation,

M & TEER WSy $ wEn FAU5T |

Define the term Fthics @ How is it relevant in busicnss ?
Why the coneept of Business Lihics ia important in 1
contemperary time. Stute the ressons and appropriate
fustifications.

et = i e ) T s § Yy &7
TN W99 ¥ O Afma 3 frera a9 e
T 2 FON S olfrm @ A o AR |

Elucidate the complete process of registration of a
partnership firm. Also throw light on the steps involved

in dissolution of a parternship firm.

What is Company ? How is it formed ? Elaborate the
varios procedures involved in formation of a company.
FEA F T 7N W T MR § 2 uw wwd S
fom & fofea fafim=r wfpmed =t faenfig EIS

(2]

Lh

What is a Trade Associaticn © Mention the reasons hehind
their formation ? Take an cxample of any such organisation
presently functioning in India and state iis functions as
well as roles.

FUR T # 8 IE HT F T ® owwor § 7 e
nﬂﬁmfﬁﬁﬁﬂaﬁﬂmﬁﬁﬁﬁgém%
T FOH A i g

=il

¥

Pudin Coaeparite Sesverance. Why this concept has been
ganiog prominence among corporaie world ? What are
the rimge of activities or functions nerformed under
Corporate Uion crnnnee

Bmia s owm e afer 0w e BRican
(FPfm)y g« sraa =60 wfw o 1 w0 % ) fro
RUGEIE I Ot o T R T B s R g N
EA,

Compare and contrast hetwer., anz e Ievans of Brtisgess
organisation.

SRR R E i 2 B IR

Whal s [ivensing Partnership 7 fricwss s disiinetis o
featwes and situation nnder which i s considered oy

suitabie,

HHETG P F D 4 mwe Tavman oy foat g
F R I iR srembe ps v L

P24 H0 L 145RST R, 2 2,84
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BBA/D-19 14586
BUSINESS ACCOUNTING
BBa-102
Time : Three Hours] [Maximum Marks : 8¢

Note : There are eight questions in all. Attempt Five questions
in all. Q. No. 1 is compulsory and comprises of six
short answer tspe questions, Al questions carry equal
marks.

A W WA £ omw uww vE F I dfan

= e | oA % fe m A IE W ©

T YYA F HF OEEE T

1. Explain the following :

{a)  Accounting 3
(b1 Users of accounting information 3
{c) Dual-aspect principle 3
(dy Trial balance 3
(¢} -Frrors of omission 2
(f)  Contingent liability. 2

(31) SEHA
(7) FEiF gEm oE

(24NN L-14586(TR) P.T.0.




(3) =% F1 FfAl

(%) AHFHF TFea |

Define nature and scope of accounting. What objectives
does management seek to achivve by -using accounting
information 7 16
w1 wgia q A9 #1 sfiafe wifeu | wsEEa

» ol

T T WA FH % A wey R IEEsEl e

v

[ 18

Discuss the foilowing :
{a)  GAAP {Generally Accepted Accounting Principles)

(b} Cupital expenditure and revenue expenditure with

examples, : 2x8=16
Gl T FUH AT .
(31) GAAP (Fi9a ¥4 1 ww wered fasia)
(@) I =m AR sTm s SEET ufed |

Give the examples of ditferent transactions which may
influence assets, habilitics and owner's funds. 16
wofeAl, affe e @ $ WS H oyOlfEd wE S
fafir o3 = 3" Sifsm

L-14586(TR) 2

-

3. Pass jouwrnals entries for the following transactions with
narration : ix4=16
(i) Provide depreciation on furniture Rs, 300 and on
machinery Rs. 2.000

(i) Received cash Rs. 1.000 for bad debts written off
last vear,

(i) Ajav Singh was declared bankrupt. Fie owed Rs.
2500 to ws. This amount was written ofl as bad.

{(iv) Rs. 20.000 for wages and Rs. 4.000 for salaries are
outstanding.

frafafms w1 # fAr s ufsfesl fran ofem ot

i ._

(i) AR W OS00 % AU Wi W 2.000 B 3
MY .

(i foost ad swfefem za7 =m = fow 1000 =
T oW

(i) A foz =1 Fafrn o =7 & ™ 1 3w
W 2500 F AFE 4 ) T OUW gaqg =Y H

(iv) TR F 20,000 F 7 FAT F 4000 T THWET
z 9

(2452 L-14586{TR) 3 P.T.0.
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Prepare Trading and Profit and [.oss Account for the year

ended 31st December. 2018

date .

Dr. (Rs.)
(lapital 20.500
Creditork 15.000

Outstanding expenses 3.400
Rent received 300

Plant and Machinery 10.000

Goodwill 2.500
Agents samples 1.350
Opening Stock 16.000
ebtor 7.300
Cast at Bank 1,000
Cash in Hand 33
Drawings 2,500
Purchases §3.300
Carriage inward 750
Wages 11.500

and Balance Sheet on that

16
Cr. (Rs.)}
Purchase returns 2.000
Sales 1.44.800
Provisions for
Bad debts 300
Advertisement
Development 4.000
Power 4.000
Depreciation of
Machinery | 500
Salary 17.200
Discount received 00
(General expenses 4.100
Prepaid expenses 200
Salary to agent 4,550

Rent and Insurance  9.950
Discount allowed 2.500
Sales retuen 300

Commission o agents 1.445

Adjustments : ]

(a) Closing stock valued at Rs. §5.700. Goods costing
Rs. 1.000 was destroyed by fire The insurance
company admitted the claim of Rs. 790 only.

by Write off Rs. 500 as bad debts and create a provision
for doubttul debts on debtors at 5%.

(c) Depreciate agents sample hy 33%.

(d)  Write off advertisemnent development by 25%.

{e) Charge 3% manager's commission 0il net profit
afier charging his commission.

(f)  Proprictor withdraws Rs, 100 for his private use.

This amount was included in general expenses.

o
o

There is a contingent Hability of Rs. 6.000 in respect
of court case.

3| fammER, 2018 ® AW g I A9 & g sn
q ewEfy T e SE ffe w onfw fza TR
FNATC :

aM (%) 1 (%)

et 20,500 Fa =l 2.000

SR LA 15.000 fassi 1.44.800
cEauiip| 3.400 ZFd HU F

Tt W fEm 300 fag wEEm™ 300

F47 auw oA 10.000 fasmo fowmm 4,000

T 2.500 wife 4,000

(2-45/13) L-14586({TR) 5 P.T.0.



THA T T 1.350 790 o g™ 500
TR TF5] 16.000 g8 17.200
TIER 7.300 72 wm 900
TF H T 1000 AT =1 4100
A THT 353 I3 TR 7Y 200
AR | 2,500 TS T 4.550
T 85.500 fortrm Aem = 9,950
S TR 750 B2 3 2,500
el 11.500 fasha =pawt 300

TS FT HHTH 1.445
HORTEA

(a) 15700 % =1 #d9 =Y, 1.000 ¥ F A FH
WA M 9 A= F TA | AW w3 wEd
790 ¥ @ TEl @R fEmo

(b) TEWA WU F FT H 500 v HAuldiEd g AN
W 3% dfew wmv % fAu wEYR ST |

(c) » Weie T 33% W Hfdu |

(dy fawma fawm 25% ewfafaa wifsg |

(¢} 3ZUFE FHAEE UM F AT IS AY T YEHF
T 3% HHYA TAE |

() WTE J @94 A9 wam % w100 5 e
= U A e 7 owite wm o

(@) W ANA F Fu W AwtEE TR 6.000 %
B i
L-14586(TR) 6

{24510 L-14586(TR)

Explain the terms leduet and trial baignee 7 What are
reasons for preparing a trial balance 7 Also discuss varions
errors that can be there during trial balance preparation ?

16
SIS AT STG TAT WA Wy sl AAw 9 uETm
Y R F T OFEOE 7 U Wig TE #6 F SRS
fafu= Ffeal =1 o =l =i |

Write notes on the following : 2x8=10
(a} Accounting Software—Tally

(by Rectification of errors.

e w fewfml fafem

7)) EF RS- g

-1

2,900
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BBA/D-19 14587
MANAGERIAL ECONOMICS
BBA-103
Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 s compulsory.
All questions carry equal marks.
w Ui W I AU | es Sem 1 arfrEd

4

Tl oW F oww owmm
Compulsory Question ( 31fard w53 )

1. (a) What is Mareinal Effect ?

-

RIEICERCHE I
(b}  What is Point Elasticity ?
fag @im =1 % 2
{c) What is Cardinal Concept of Utility 7
IR # wfdT smumm 3w §
(d}  What are returns to scale ?
T e T % 2
(e}  When is price &mniz.:amzon profitable ?
T YR TNROE #§ E )
{f) Explain price leadership with diagram:.
WE F W T TGS H owE FT

{2-48/8) 1.-14587(TR) P.T.O.



What does Managerial Economics mean ? Explain its
nature und scope.
WagsTe wofened W A @od ¥ 7 TEw Wl s wrew
FT TR ST |
Explain Law of Demand. What are the exceptions to the

[aw of Demand ?

Htn =1 Fm T Eif . | winw BT & SER S E 2

Define Price Elasticity of Demand, What are the various
methods to measure it 7

Wi F W WE w st wife | @ W @
fafas we =0 ¥ 2

Define Indifference Curve. Explain, how is indifference
curve approach superior to the Marshallian utility
approach ?

Etroin i ol B e L B ) LU ol || S Rkt
Hfeferdl o @ dgar IqHEAA G AT RE ¥ 2

“The Long Run Average (LAC) Cost cham_:ww more
likely to be L shaped than U shaped.” Discuss.

“e W TF WoW ael siEd (LAC) W 9w & L
FER FT B F WIEA § e U AER A " ==
HifAQ |

L-14587(TR) !

7.

What are the mair features of Perfect Competition ?
How is the equilibrium determined in short run of perfect
competitive firm ?

o Wit F ger favmed W € 2 g weend wH
% souEty § 9w #9 fuife few S g 2

What is the kinked demand curve ? How does it explain
price rigidity ?

fafam Al 9% F0 & ? 9% YoW woRd F AEH Y
Eaciik i

(2-489) L-14587(TR) -3 . 3,950



7. {a)
(b)
5. (a)
(b
L-14588

Show that the proposition pv~(pag) is a
tautology.

mﬂ._.mmd. & &ed E<efu>3 PG ] ..w l

The demand function for a manufacturer's E_oacﬁ

R0—=x

1s P=—"—_ where x is thc number of units and

4
p is the price per unit. What is the maximum
revenue.

80-x
4
%, WElx TEEE HI WeH1 & 9 p i T wiew

2 | sfyman amm =M 2 7

et

fefm & s + fau 5 a9 p=

"4

Prove that :
00, +10C, 4.4 10C,, =210 2
fag =iftu f& .
e+ 10, #4190, =210
Differentiate :
Jx2 41+
NN
v % OHe 3@ m.w.ﬂan_.m :
z\....m i:guﬂml_
a\am+_+¢\am|~

6 .. 4,560

w.rt x

Roll No. ...conmiiiiiiienrenenes Total Pages : 06
BBA/D-19 14588
BUSINESS MATHEMATICS
BBA-104

Time : Three Hours]

Note :

(b)

[Maximum Marks : 80

Attempt Five questions in all. Q. No. 1 is compualsory.
All questions carry equal marks.

Hel ufE T % T A | wed w1 sifEm @
aft At F oF g €

Compulsory Question ( 3f7a woT)

LetU=1{1.2,3,4.56,7,89:A={1,23, 4
and B = {2, 4, 6, 8}, find (A v B) and (A - BY.
g U=1{1,2,3.4,56.7,8 9, A= {1,234}
qM B =4§2,4.6 8, F(AUB)IAM(A-B)Y 9@
FifaT )

Solve :

T TG

(2-51/1) L-14588 : P.T.O.



(c)

(d)

@

ity

1-14588

i » and » are natural numbers, such that <, <p

then :

"C, n-r+l
30___.i_ r
= 2 TA r TERE GO R, WU F 1<r<n,

a

3.0__, HS.I~.+~
“"C,, T
Evaluate :
Lt —
alvoT_
‘ -
Lt —
»Iwc_kA
/\l
If \O&ly find \Au
Jx
af \C&!ﬁ @ (1) I m&;ﬂ.ﬂ

Ho ;.o
_:,u _L ; e&? o 1| then find & so that

A2 =8A+Kl-

>|__j HH . |
ﬁmrlﬁ_qms o1 wﬁmﬂ_wa

-

= @ TR AZ-gA+d-

(a)

(b)

(a)

In a group of 400 peoples, 250 can speak English
only and 70 can speak Hindi only.

Find :

(i) How many can speak both English and Hindi ?
(ii) How many can speak English ?

(it} How many speak Hindi ?

400 =afFad & UF TUE W, 250 FA AT <R
g @ 70 AR T B dew #
ECIEL

(i) mﬂ»ﬂ?igiiimu
(i) Fran =afm sl aed & 2

(i) FPm =R fd W ¥ 2

Solve :
\ x
|+|
x-3

T FifSm
m.r

From 6 gentlemen and 4 ladies, a committee of 5

=21
2

21

s to be formed, so as to include at least one lady;

_n how many ways can this be done ?
ﬁﬂmmﬁmspnwﬁ%m@uﬁﬁ%

ﬂaiw%ﬂ@ﬂﬁﬁgﬂﬂwﬂ

Wﬂ%ﬂ_im&i@ﬂgﬂg
p) .

(2-5112) L-14588 3 P.T.O.



(b)

(a)

(b)

(a)

L-14588

Find the co-efficient of x® in the expansion of

T+W‘,MJ,, & famm d X9 =1 TONE I OFHIEC

Evaluate :
iy -—X
e —p
Lt —
x—0 X
qediFd BT
X X
e -
Lt
x—=0 X

1
If u\u;\m+ﬂu show that :

NH@+EHM/\M
dx

o y=rt o, @ i

2wy y=/x
dx
2 3
Given A= 4 7 |- compute A1 and show that :

2A M =091_A

4

(b)

(a)

(b)

(2-513) L-14588

2 -3 .. )
fan & A=), 4|, AT O ST T

Tomge & -

27 =91-A"
Solve the following system of equations by Cramer's
rule :
fx+~y—-3:=3: x+3y-2z=5 and 2x+y+4z=8
Fm & frm gu Frefates mie ® e
HIAL, .
bx+y-3z="5; x+3y-2z=5 T 2x+y+4z=8

The demand and supply nn._cmﬂ._o:m are given by
pg = 20 and 3p-2g=7 respectively, where p 1s
the price and g is the quantity. Find the equilibrium
price and quantity. |

o oiR qff ot wEe: pg =20 A4 3p-2g =7
o e M ¥, el p Fimw & o g AW R w
Jo WA F AnEAE §W RN |

Solve the system of equation’ x+5y=3 and
2x+10y=6 by tHe matrix method.

s fafy @ GEHFT x+ 5y =3 AW 2x+10y=6
% from@ @ 9T

P.T.O.
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BBA/D-19 14589
AN EIECIR))
BBA-105
Time : Three Hours| [Maximum Marks : &0

Az . W oW sfEE ¥

1. frafafer & s fafen 10
Tqfd emee &1 Jui ®iog |
T

S TR A - foem A F fm av SR

2. IGHHR UR ¥ URAW F BU I[RIW Weq TOmEY |
erar

feom R ww fawgm e fafeaw | 10,

3. HER & WEY T WH i faeed s |
AL

 STMMY (Y] HER) 1 SIEAV WiEq faEem FET g
10
4, H@EWm ¥ oty @@ fafy % ave Fifew |
eraT _
Yoaad &t Wismar w1 fag=a wifeu 10

2-13/3) L-14589 P.T.O.



5. fmfafes wiwfvs o= 21 &=t § fafan

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii}
(viit)
(ix)
(x)
(xi)
(xii)
(xt11)

(X1v)

Surveyor

Director General of Rehabilitation
Power Department

Translation Department

Dial

Value Pavable Post

Current Account

Over Draft

Action is required to be taken early
Accord Sanction

Abstract statement of cases disposed of
As per list enclosed

Adhoc appointment

Allocation.

13
[

14

6. Use the following terminology in your own sentences s¢ as

to make their meaning clear :

(1)
(iii)
(v)
(vii)
(1x)
(xi)

(xiii)

L-14589

Far and wide (i1) Child play

Call names (iv)y All in all

At a stonc’s throw  (vi) Apple pie order

In spite of {viii) Make out

Off and on (x)  Out of question

Null and void (xi1) Live fast

Laid up {xiv) Keep pace with.
2

14

7. Trfafeq faval 9 9 f&dt @ w 300 v ¥ w o

fafam -

(i) fmma ok aforsg

(i) =Ems

(i) oY = # wfEs

(iv): FIYT

(v) e g = Ty-wfs W owE |

(2-13/4) L-14589 3

12

3,000
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BBA/D-19 14591
COMPUTER FUNDAMEN I'ALS
| BBA-106
Time : Three Hours] [Maxtmum Marks : 80

Note :  Attempt Five questions in all. . No. 1 is compulsory.
All questions carry equal marks,
F9 e YT F IW AU ) v gEw 1 sfed

T WA % HH GEH ©

1. (a) Diffcrentiate third generation and fourth generation

compuiers. . 3
FPGR o A dE aw el 9§ o e
Frfsm |

(b) Write a note on Videa Conferencing. 3
Afear HHiE

(c) Convert 10.625 and 137 to Binarv and
Hexadecimal. 3
10.625 a0 13.7 T =EA0 wenr FeEEEHA |
qefAn |

(d) Name fouwr mathematical or statistical functions of
Excel. 3
Lxcel % =W W™ = Wifegs! FRE & W
et

(3-19/3) L-14591(TR) P.T.O.



(e}

®

Differentiate HLL and LLL.
HLL 7o LLL ¥ 3R = #ifm
Abbreviate GUL, WWW, 1

GUIL, WWW #1 of w9 fafem

L)

2. Make a block diagram of computer and explain working
of essential parts. 16
PR F A SANH T TS AEvaE w1 w) FRIF
F TvH Fifa |

3. (a) Define memory and differentiate primary  and

secondary memory.
m&&ﬂ%ﬂﬂ&ﬁamgimﬁﬂﬂqﬁg
H =R AdEn

(b}  Differentiate Compiler and Interpreter. 16
FHEN TH Ui W e wifg

4. .Define operating system and explain how it acts as a
resource manager °? 16
R fmen %7 uftfig Y a1 =nem #ifw fr
T A ATH F T F 7 w0 w3

5. What is Networking ? Explain types of networks. 16
T TR 7 e @ yEW #1 quis Hifsg

L-14591(TR}) 2

(b)

What are applications of Internet in Education
System

e T3t ¥ = % wm I 7

Define Browser. Name rwo goswm? and explain
working of any one. 16
TR F 9T w8 ged @ Gy
W e W A wEwel @ aoi AT |

7. In context of Word. discuss :

(a)
(b)
(c)
(d)

Spell checker and Clip an

Creation of Table

Header and Footer

Formatting Text, 16

Word & #= | a0l #ifqg
(21) ¥ Wt v frem g,
(F) Z@ed =7 fagio
(7)) & w6 5=
(7)) wdfen zzw |

8. (a

)

In context of Excel, discuss _

(1) Formula insertion and i’ statement

(1)  Chart Wizard. 16
Excel & w@my o =iy Hifag

() e TR s F =iz

(iiy = faesrd |

Write the various views available in PowerPoint. 16

WaEe ¥ 39 M views fafam

(3-19/9) [ ~14591(TR) 3 3,600
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BBA/D-19 145493
UNDERSTANDING HUMAN BEHAVIOUR
BBA201

i

Time : Three Hours] [Maximum Muks

Note . Aftempt Five questions in all, however Q. No. © .
compulsory.
FE U W % I BfAT | Yey Tem | o
2 .

1. Short answer type questions :

(a) What is the nature and measuring of humuc
behaviour ?

(b) Define Personality.

(¢} What are common physiclogical responses in
emotions ?

(d) What is the nature and process of motivation ?

fe) Explain theory X and Y of motivation.

(f)  What arc the causes of forgetting ?

(3079 1-14595 P.1.0.



[

Y T

(H) 9M3 MAER & W
(2) =fFmg =1 ufmm
(W) Ham & "W wweE
(7) fwrom = w3 wEw w7 o

— -

(3) #9aon = X 3§ v fogs =1 sem wof

(F) o1 FT OEFA T YA OETN g4 77

Explain humun behaviour with the aolp 2 <ognitive
approach.
HAAHS gfEsm ]
Hwifay |

Lxplain Trait Theciy o Fere

=Zigaw T fagrs = Soee o)

Explain any fuwo thoorios © 0 1 wters,
LR T E R R T Pt I

Explain two-izctor voos 0 e
sfgron & f-we ORITET wTE

What s Porcorven D e oo anmen e Taws of

]
perceplua! oreartse o

AT s fagmed T

L-14595 -

ot

9.

Explain eperant condimoniny theory of learning with the
help of experiment done by Skinner.

fpr 310 wam 30 U YR F HEF wmervH
I ATEH |

What are the tvpes of memors ? How can we imiprove

memory 7

gt & =R &5 € 7 WqE w1 F gaw = ¥ 7

Explain Social Learning Theon.

amtas Afar g = 55

(310 14595 k) 2200
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BBA/D-19 - 14596
WO TREO-BUSINESS ENVIRONMENT
BBA-202
Tme Tom So= [Maximum Marks : 80

Nele LT e questions inall. Q. No. 1 1s compulsory.
A7 Faesioos carry equal marks.
%= s 3 % IW AW oy dew 1 shed
¥ T R F e wmm ¥

Compulsory Question ( 3T aR W¥T)

1. Azer-—¢ the following short answer type questions :
izv  Concept of Environment Scanning and its practical
utility.
>+ What are the key objectives behind Economic
Planning ?
¢ identifv the social forces/factors in environment
influencing business.

+Zv rigure out the dimensions of Corporate Social
Rzsporsibility.

SiriEE v SE0Y W % T AR

LF TTET WA H] HEURI N e WA |

2492 L1409ECTT ETO.
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BBA/D-18 - 14596
MICRO-BUSINESS ENVIRONMENT
BBA-202
Time ; Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
T U T ® TR AR | v wem 1 st
T oWl o W ow T €

Compulsory Question ( 31f¥ard we= )

1. Attempt the qu:oimbm short answer type guestions !
(a) Concept of Environment Scanning and its practical
utility.
(b) What are the key objectives behind Economic
‘Planning ?
(¢) Identify the social forces/factors in environment
influencing business,

(d) Figure out the dimensions of Corporate Social
Responsibility.

frefafaa @y svla o & s Sifau .

(37) TEERW WA ST WU T 3 WA |

{a43/7) 340367 4.0,



(%) ot Fram % wom weRvm owm ¥ 7

(¥) =UR & YOfed =Y 9 qwiew ¥ g
vfEeRs w1 wiEm s

(7) Fe mefas Suefie @ s % fosifeg
FHifoe

- Compare and contrast the various economic system i.e.,

nm?ﬁ:ma vs. Socialism vs. Mixed Economy.
o= afgs yoret S9 folaR @ m wasER =W
fafyg sreforeeen § gam @ v v Fife

Why MRTP Act has been replaced with Competition Act,
2002 ? What are the objectives of Competition Act, 2002.
Discuss the main provisions of Competition Act, 2002 ?
wiese sifufran, 2002 ® WY MRTP &=« frenfim
¥ 9 T 7 it afafae, 2002 ® @ sdve ¥ 2
WH YgE WEEEl $ el wifeg |

Does Social Responsibility conflict with the economic
objectives of a business organization ? How can social
responsibility be uscd as a tool to achieve the mission of
the organization ?

1 AMITE ITERE S W e IRivE &
g " w ¥ ? e W fve Ww wd % fag
s Tfe® &t UF IuEm % w9 ° I wam fEa
W HEa ® 2

L-14590{TR) 2

24913 B 145%6(Y

Why every manager needs to understand the Business
Environment ? Discuss the various components as well
as tynes of Business Environmen:.

¥ 7 =R vl # el wed wen well & avi
HifT

Discuss the major issues and hurdles in effective economic
planning in india. What are the suggested measures to
overcome the same ?

URa # yweeel sife R F wgm g g el
W o FA IR QW FA A GUEE I w S )

Discuss the different types of risks in Business
Environment which are having an impact on business.
Use examples.

TR W WA TIER T SR vde ¥ Sifey § gwR
ENC L L B 31Tl I 2 e S A

Write notes on the following :

(a) muu..n_u“.onmE.mm_ role of government for business

(b) Identify the technological forces/factors in
enviroirnent influencing business.

Frogfafem w foeofmal fafaw -

(57 =MR < i o # owend afees
(&) onor % wanfar wme oo owohmm F deifed
Whemeems) w vfew Qe

1,830

L)



8.

Explain the following in short :

{a} Steps in Business Forecasting

{b) Difference between Skewness and Dispersion
(¢) Difference between Moments and Kurtosis
(d) Uses of Microsoft Excel.

frfafas #t d9fta = wieT
(1) =ANR afywEaml § 5
(5) fommm aw faoo o o=
(@) W@ oI EEEW H W
(3) "EHER THFE FOITAR |

L-14597(TR) 6

Roll No. .oniiiciiininnenas

Time

Noice

._.
(d)
(b}
(c)
{d)

th)

: Three Hours]

Total Pages : 06

BBA/D-19 14597
BUSINESS STATISTICS-I

BBA-205
[Maximum Marks : 80

(3. No. 1 is compulsory and each part of it carries 2
marks. Attempt four questions out of the remaiming

questions. Each question carries 16 marks.

yoq T 1 afted B weE W 2 SE e §
¥ " 9 W Y9 R | F WRA 16 FHE WHI

2

Lxplain the following in upte 50 words each

Scope of Statistics

Tyvpes of data

Frequency polygon

Ogive or cumulative frequency curve
Merits and demerits of Median
Moments and Kurtosis

Time Reversal Test

Factor Reversal Test.

frfefma % 50 F=€1 9% 39 AU

{(37)

12-42: 1) L-14597({TR)

3,200

r

T

1o,



(F) T ® UER . frfafes afves T srEe ¥ 100 w9 F At

() ogfa =guy . ﬁﬂw;%ﬁnvﬂyﬂagiﬂﬂ@m“
N & . . H krre
(3) oA SR Wl aRaRE a9 Sﬂm%ﬁﬂﬂw ﬂww
(z) e + ms, AR ST 25-29 5
(F) FH R didem 30-34 2
(M) 1 gfaem dee 35.39 23
(%) wiw wioam wiegm | $0-44 31
_ 45-49 10
2. The following table gives the frequency distribution of 50-54 8
the weekly wages (in '000 Rs.) of 100 workers in a : 55-59 3
factory : 60-64 2
Weekly Wages No. of Workers forazor =1 fewemm ik GEL mmmﬂ SR
20-24 N 3. Explain meaning and sources of sccondary data. Also
25-29 3 explain any nre methods of collecting primary data.
30-34 12 AR SHE! 1 [N Al BT WO | WA Awe] F |
35-39 23 i =0 F  fafml w1 9o Fifwg :
40-44 31 !
4. Calculate the Mode. Median and Arithmetic Meun from |
45-49 10 . _
0 the following data _
50-54 4 |
> 8 Class *  Frequency
73-39 : 0-10 s
60-64 2 10-20 10
Draw the histogram and frequency polygon of the 20-30 15
T 30-40 15
distribution.
40-50 20

1.-14597(TR) y: (2-42/15)L-14597(TR) 3 P.T.O.




50-60 1

th

60-70 13
70-8¢ 10
80-90 5
frefafEa sTsgl ¥ Fger®, Jhal 4 nforda =es #
T I
a1 R AR
0-10 5
10-20 10
20-30 1S
30-44) 1S
40-50 20
30-60 15
60-70 [
70-80 10
80-90 5
5. Fxplain difference between sample and census method of
conducting survev. Describe with example varivus random
sumpling techniques.
T FH F A d ST Ay 6 s we wiig
fafq= TgfmE AN FEATES TR W @
FIIAT |
6. Explain with example Laspeyvre's method and Paasche's”
method of constructing index numbers, How Fisher method
of index numbers is better than other methods 7
L-14597(TR) 4

g TaH &t T fafu qen uw fafa &1 ssww
Ffa avi7 Fifwn | feer fafa o Rl O @ afss
F=H T 2

For the following data prove that the Fisher's Ideal Index

satisfies both the Time Reversal Test and Factor Reversal

Tests :
Commodity Base Year Current Year
Price Quantity  Price Quantity
A 6 30 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
frfofen ofegl = fm fog Fifow & fFR & o

EFlE Wi ViAo Thev 3R B wawd W Hi

LS £ LG RG]
HAT Tt HTT T
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
(2-4216)L-14597(TR) 5 P.T.0.



8. TFrom the following particulars, calculate Material

Variance :
Materials Standard Actual
Qnty. (kg.) Price (T) Qnty. (kg.) Price (3)
A 50 6.00 40 6.00
B 40 3.75 50 3.60
C 30 3.00 40 2.80
120 130
Frerferfen el @, W freolt = o W
Lt LlE o ARATSR
HTAT Eaen) HTAT Cinc)
( fermm. ) ) (fe,) L9
A 50 6.00 40 6.00
B 40 3.75 50 3.60
C 30 3.00 40 2.80
1-14398(TR) 4 2,350

Roll Ne. Total Pages : 04
BBA/D-19 14598
MANAGEMENT ACCOUNTING
BBA-204

Time : Three Hours] fMaximum Marks : 80

Note : Attempt Five questions in all, Emwc&:m Q. No. 1 which

is compulsory. All questions carry equal marks.
T¥ Wem 1 wika, W f§ afard 2, w1 ota v
# 3w o | ot v ® sl wm ¥

Compulsory Question ( 3@t w9w)

1. Explain the following :
Prefefe w1 smen i

(1}  Explain four techniques of Management Accounting

3+343+3+2+2=16

in brief.
TEHHY SGiwT ® AN dHAR H T F v
Hitag |
(i) Three objectives of Cost Accounting.
TR AEET AT Ry
(iii) Flexible Budget
Argeiier w9

(2-42/12)1.-14598(TR) P.T.O.



th

{1v)  Break-cven Anabyvsis

Ta-fasse

(v Uniform Costing

vy Meanimg ol Responsibility Accounting,

THENT= oidss %1 21d

Whan do vou mean by Management Accounting ? Txplain
s funetions and importance. to

A=A AEFS H SR 7 fIE 2 0 o Fm
FE FD AUA BT

Define Cost Accounting. Explain its significance in brief,
Also disenss the difterenmt methods of Cost Accounting. 16
AT FeTFA w1 AiAiyd Hiau | T9F 9Ee 9] OE9 §

What 15 meant by Budgetary Contral ? Also explain the
advantages and disadvantages of Budgetary Control. 16
Tl fg=m =1 F0 w7 7 Awed e § oAy

What is Garget Costing 7 Explain the features and
~mitations o Target Costing, 16
A FA-FRET 7 Al A #1 fare
= HEE w1 geE

L-14598(TR) 2

6.

Explain the following :

{11 Cost Sheet

(1) Master Budget

(i) Murginal Cost. S+6+5=16
afgs 1 W= FIET

(1) AT OH

(i) HP=ZT WSl

(i) HHE @ |

From the following data. find out : 16

(1) PV Ratio

i B.E.P

tty Profit for the sale of T 10.00.000.

’ Z

Sales _ 8.00.004
Variable Cost 6.00.000
Fixed Cost 60000

forafafem stFel 9 @@ Fifaw .

(i) SMY-TE 29

(ity Tm-fawag faxg

(iiiy T 10.00.000 =1 fazr @ @ |

3

CES) 8.00.000
= T 600000
T A G000

124213 L-14598(TR) 3 PT.0.



8. What is meant by reports 7 Discuss the advantages of

report writing. List the commands used in report writing. ROINO. covorvertreree Total Pages : 04
16 BBA/D-19 14599
foe W st § 7 o e & e W frod FUNDAMENTALS OF DBMS AND ORACLE
wiwe | el e 0 ogEm ® WW A wEvEm #H BBA-205
T =i
Regul :80
Time : Three Heurs) [Maximum Marks : st
Re-appear : 50

Note : Attempt Five questions in all, Q. Ne. 1 is compulsory.
All questions carry equal marks,
T U YA F I A 1 v mem 1 sfEd

= -

B oW WAl O# OEF IEE T
Compulsory Question { AHaT 399 )

1. (1}  What is data independence 2 Discuss logical data
independence ?

- fard

A WAs R T 7 aFE S WaAar W fewed
HIAT |

(i) Brefly explain super kev and composite key.
TET A T T N WHY HAl T e Fife |

(iil) What is meant by plex structure ?

o HeEE W F AfawT ¥

(1v)  Write a brief note on SQL data tvpes.

SQL 2. ¥ W™ W oHaw § fowel feifEg o

L-14599%(TR) 4 2,900 (2-23/13)L.-14599(TR) P.T.O.



fad

Y What iy meant by SQL numeric functions ?
SOI. FA W ow sy

(vi)  How check and like constraints are applied in SQL »
Ghe an example, 16
SOL B 319 3 @10 %7 39 o fem o &
UF I G

Detine database Management system. Discuss database
advantages and disadvantages over traditional file oricnted
approach, 16
BRI E I SR e

What are the i Impottant properties of database approach ?

Outline and explain components of database management

S¥Etem environment. 15

What do sou mean by mapping ? Biscuss the role of
mappimg in three ter architecture of database management
SYNICML 16
ﬂﬂjﬂuﬁﬁﬁ%ﬁﬂwmwﬂmﬁﬁﬁﬁi%

L-14599(TR) 2

n

Explain the uses of computer in modern busiress, Write
a detailed note on computerized sysiem of inventory
control, 16
&%ﬂgﬂﬂﬂﬁﬂﬁﬂﬁ%ﬂaﬁh

Write the purpose. symax and specimen example of the
following SQL. statements 8+8=16

(1) Alter and tUpdate Statement

(1)  ¥WET 3R sTEe Fus
() Tz, TM s FEe wem |

How select statement is used with the following © Write
the purpose and give SQL query in support 1o your
anssyer 8+8=16
(1 Select with group by and order by clause

{11) fr_nr_ with distinet. aese and dese keywords.

&

Gy select statement F1 Tq9M = C7ro)

ST F] MHAR ¥ gu SQL

iy Group by #7 Order by ¥RY % my

() distinet. gese #7 desc ®EOE = my Een

(Z-23 14y 14599(TR) 3 P.T.O.



Rell Ne. .. Total Pages : 02
BBA/D-19 | 14600
BUSINESS COMMUNICATION
BBA-206

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
el UiE T B W e | oy gen 1 sEd
2 owh oE ® o e T

Compulsery Question ( 31 wyT)

1. (i) Effective listening
EUE  AE
(ii) Dress Code
34 WS
(1) Vertical Communication
T, HER
{iv) Accent
ES |
{(v) Public Speaking
e =e
(vi) Meeting
Hifem

(23818 -14600 P.T.0.

2, Discuss the nature of Business Communication in detail.

MR §ER F YHiA H Gy ® Y " 99 wifeg

3.  Write about the barriers in Business Communication. How
these barriers can be overcome ?
=OR H9R H N a9 |yl % == #ife | g
sEtEl R fFW YER HE T W GHd B 7

4. Discuss the relevance of Communication Management.

THuR T&YT % Wevd @ f9ega ==t sifeg |

5. Write about the importance of Communication skills in
an organization. Give examples.
TF WM § TR EN & e & 4R § | aked
fofEe ) o

6. Explain the communication structure of an organization.

T HYE § 99K B9 W A Sifwg |

7. Write notes on any fwo of the following :
(a) Interviews
(b) Commercial letiers.
frfafes # | ol 1 W fewfrf forfey .
(37) R
(9) =Fhifvee v (wEwfasd 1)

8. Discuss the necd and advaitage of wleplivnic conversation.
HAFITR Taia (W Wa®) &1 WEvasd g o &
fawa ==l Fifag |

L-14600 2 2,700



J 2307 | 0 1 TR Total Pages : 03

BBA/D-19 _ 14603
PRINCIPLES OF RETAILING
BBA.302
Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.

FF O FR F SW Y | g e 1 dftEd
¢ owelt vl % sfw owEW ¥

1. Write short notes on the mo:oe&:,m“

(a)
(b}
(c)

@

(e)
(H

Non-store Retailing
g-Commerce

Visual Merchandising
Retail Location
Customer vs. Consumer
FDI in Indian Retail. .

frfafer W ghra feofmal fafe -
(1) TH-=R fefEm

(%) $-=iad

(@) fagem wenfsn

() g0 WA

(3) WEF AW IqHE

(%) 9da foda o uwwEtam o

(2-46/11)-14603 _ P.T.O.
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o

adw

What do veu understand by the term ‘Retailer® 2 Explain

is scope and importance in indian Economy.

TR T ® e o g ¥ 7 o Nefenae

%&@T%ﬂﬂ%%j

varicus distribution te chniques used by the
¢ reach the end consumer 7
T mﬁjﬁ B0 A e W vt ® o e
AEm T w I e o 8

Describe various factors to be considered while identifying

the most attractive geographic market for a new store,

ﬁ,ﬁﬁaﬂ,@mﬁ@ﬁﬂnﬂ%ﬁﬂﬂﬂa
ﬂmﬁﬁﬂﬁgﬂ%%ﬂmﬂﬁﬂj%_

Describe Consumer Behaviour. Explain different stages in
buying process.

TIUH HGER F oA WA | wled it Yisha
fafir = =1 =rem Fifm

What ate various types of Store layout ? Discuss in
Gatsil

Aﬁﬂmﬁmﬁﬂﬁﬂuﬂmﬁ € ? TTER ¥ vmmmd

L-14623 2

7. Discuss various t¥pes of Retail Organisational Structures
in detail
fai= b % few swn dd  avi sk

8. Discuss the need of IT in supply chain. Give examples of
IWC companies which goi success with the use of IT.
ﬂaﬂp‘ﬁﬁaﬁﬂw@mﬂﬂﬁﬂgﬂmﬁ

detaftie



8.

L-14604(TR) 4 2.000

Describe the following in upto two pages each :
(a)  Major limitations of internct banking

(b)  Security issues in e-Banking

(¢)  Government’s initiative for digital banking
(d) Retail Banking.

frfafes & % v &1 @ o § 9o wifeg .
(#) 3erie WFT F owgm dwnd

(@) 5 4 g # g2

(7) fefvem S & fou @@ R # wee/veET
(®) f@=a (gewv) &

RoH NoO. v Total Pages : 04

BBA/D-19 14604
PRINCI™LES OF BANKING
BBA-303

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory and each part of it carries
2 marks. Attempt four questions out of the remaining
questions carrying 16 marks each. |
T dWem 1 At € odn ow=w v o cn w3
I H T FE A T FET [ wdE e 16 3T

2

HOE

1. Write down one page notes an each of the following
{a) Commercial Banks
(b}  Public Sector Banks
(¢) International Banking
(d) Mobile Banking
(¢)  Universal Banking
{(f)  Non-performing assers
(g)  Spread
(h) ATM charges.

G-1IDL-14604TR) _..,_,..O.



frfofag & o 7o W.TF T ¥ o fafen
(37) =aEifgw o

(9) TESEE afm §%

(W) s dfEn

(z) e dfEm

(2) wEdfEE S

(w) W-fronfeg aftemfat

(M wWe
() wdawm =fsg

Describe brietly system and composition of banking in
India. Also give the classification and functions of
Commercial Banks operating in India.

UG § ST w5 Jonell SR Sa #1 G aui F e |
aRd H FrE winfes g% & orfletr @ s ow o
AR, |

Describe the vrganisational set up and important functions
of Reserve Bank of India.

s Fee R i fiod d% oF dfew #
F H TR H )

What are the important. provisions of Banking Regulation

Act. 1949
S fafrmm afafem, 1940 % Tewrgel W = ¥ 2

L-14604(TR) 2

S

Differentiate the following :

(a) CRR and SLR

(by Ml and M2

(¢) Net Interest Margin and Non-Interest Income.
frafafes ® s w9 -

(1) CRR W SLR

(@) Ml &7 M2

(W) W§ =9 W oR s e

What 1s Cooperative Banking 7 What do you understand
by the term ‘priority sector lending” 2 Whether
infrastructure financing is considered a priority sector
lending 7

WERl d% ¥ § 7 ‘wefgwdar e@ EW O AW @
TSR ¥ 7 W SmEtE faweme w1 wefawdr & &

e 1

Elaborate the banker-customer relationship. Alse meation

various services offered by banks to their customers.

“

HFT-TEE T ¥ fawid #IiTw 1 ®®m g

[l -

3T MEET F1 & 99 Al fafa= Qe &1 O Seee

HITTT |

(3-11/12)] -13604(TR) 3 P.T.O.
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3BA/D-19 14605
FUNDAMENTALS OF E-COMMERCE
BBA-304
Time : Three Hours] [Maximum Marks : 80

Note

There are eight guestions inall. Attempt £ive questions
in all. Q. No. 1, comprising of six short answer
questions. 18 compulsory.

FA MBS WA | A e T T ffw i oy

~

T 1§ v @y sWEm oy ¢ ow wFEE

Compulsory Question ( e 797 )

I. Explain the foliowing :

(a)

(c)
(d)
(e)
(1)

c-Commerce 35
Internet and e-Marketing 2.5
B2B e-Commerce 2.5
Financial Electronic Data Interchange 2.5
Privacy Issues 2.3
Cyber Risk Managemend 2.5

frefafaes =1 =Em sifsw
(37) T-prerd

12-42/10)1,-14605(TR) P.T.0O.



(z) fom =it o3 =

2. Define e-Commerce. Discuss the role of e-Commerce in
changing today's business scenario. Also discuss the threats
that ¢ 1:_.62_ EJ with a.m.o::ﬁﬂam. 16
3. Discuss the following 2x8=16
(w)  Iypes of e-Pavment Svstems
thy  Transaction Sceurity.
fr=fafem =1 9 =i
(¥) TEE YRl F WeH
() =E3 wOERT |
4. Discuss the need of firewall for a commercial organization.
Alsu discuss the components and benefits of internet
firevead], 16
Wizt F oM WA ¥ AEvrEm & au
TRATA % Yed A SN sy S A
L-14605TR) = 2

What do vou understand by Electronic Datw Imerchange

Differentiate between the traditional and clectronic

payment systems along with their features. 14

&

m,ﬁn__,m& T TETAS W A A OWHEA ¥ ) TR AW
TEE YRl F1 IAe PrymEmen wiEd =M

Discuss the following
{a) Sman cards

{(b) Role of internet in promoting c-comnerce 16

{37 T F=E
(2} 3-shHY T4 T

Differentiate the following :

(a)  Inter-orgamizational comierye and inira
organizational commerce

(b} Parnally and fully integrated EDI sysiems. 2x8=16

(¥) TTEE- AMAESYE FHE T4 TEAGAEETYR FR

(=) afeF @@= g9 ED] yomed |

Write a detatled note on the o-Commerce impact on
accounting professionals. 16

FEOM W T FMY WA W UF fmgg foomn

(2-45H) -1 4605(TR) 3 2500
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BBA/D-19 14606
EXPORT PROCEDURES AND
DOCUMENTATION
BBA-305

Time : Three Haurs] [Maximum Marks : 80

Note - Attempt Five questions in all. Q. No. 1 comprising six
short answer type questions 1s compulsary. All questions
carry equal marks.
we Wi e ® Im dfae o onw owEn 1A e
wy I WA 7, frg F At @ | B

F o o € |

t. Short answer type questions :
(a) Franchising as a method of exports
{b) Certificate of origin
() Forwarding agent
(d)- Delivery against pavirent
(¢} Export E._caoso: council

(fy  Political Risk,

(3-2015) L-14606(TR) _ P.T.0.



Describe important methods of entering in export markets.
e ol # oW s # meeyn aow w1 svi
FIY |

Explain  the process and usefulness of. aligned

documentation system.

EGLEL

Explain the quality contro} system for exports. Also
deseribe the suitability of self-certification for quality
control,
frafe % fau swem froaw vonet w1 s HIT |
ﬁﬂgﬂgﬁ|§ﬂmﬁﬁaﬁ&mﬁ
Y

L-14606(TR) 2

ﬂ%ﬂiﬂﬂg%mﬂmﬂﬂ%n

Explain the usefulness of letier of credit for realizing
export proceeds,
T W@ o wEw %73 % fAy owes #1 3og

aw § fafgg |

Describe the “Towns of Excellance”™ Scheme for export
promotion,
FIT |

Describe the important provisions of recent Foreign Trade
Policy.

T faew =un Aifg # S AT AT 3T

Explain the different types of risks associated to export
actvity and also explain the risk management strategies
for exports.

fram ffafs @ 92 ffaw v+ H
Fifau Fo Faf@ # fau wfes wEd
AT FiTey |

Eaflc|

{3-20/6) L-14606(TR) 3 2.600



Roll No. . Total Pages : 03

BBA/D-19 14607
PRINCIPLES OF PRODUCTION
MANAGEMENT
BBA306
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
F@ Ui oA & Iwm G | TR den 1 shaEr
g1

1. Writ. short notes on the following :
(a) Industrial Product
{(b) ABC analysis of inventory control
(c) First in first out (FIFO}
(d)  Quality control
(¢) Public Warehouses
()  Ordering cost of Inventory.
frfafae w dfim feofimt fafag .
(1) eife I
(%) ™y fEm e oAl (ABC) fawem
(@) wea aTm wgw fE (FIFO)
(z) T fEEm
(3) TESTH  HUBRO
(B) & HI IRIY TIE |

b b2 W e e e

(3071 DL-14607 P.T.O.



What do you mean by production function ? Explain

different types of production systeni, 16

&

TARE HEE QNS F ANy £ ? IEES YOSl &
fafa= yori =1 == wifan |

3. What 1s Production Control 7 What are its objectives ?
How can it contribute to efficient production ? 16
TAEA I @ ® 2 W W RS ¥ 7 W e
IR ¥ FE AvEE % whal g 2

4, Describe requisition, ordering and purchasing function in
a manufacturing organisation. 16
TF fafmw Tnen W A U3 E, ARy 3 oA w1 w5
T F TUH FETAT |

5. What do vou mecan by storckeeping and warehousing 7
I-xplain the importance of warchousing, 16
WTHITT T U0 ¥ OS] T OARYE ¥ 7 9USn
F HEwd & AT FNU |

6. What do vou mean by inventory control ? How is
ceonomic order guantity determined ? 16
w6 A A eyt w wfuwE ¥ 7 onfiw amEwr =
* #9 fauie w1 © 2

L-14607 2

7.

What is Inspection ? How does it help in improving the

" quality of products ? 16

e 7 % ? 9% SR -® o gurd W 5 TR
[EEd F E 7

Write short notes on the following :

(a) Make or Buy Decisfon

{b) Objectives of statistical quality control
{¢) ISO Certification. 5+5+6=16
ffafes = dfrw feoftrl fafec .

() aFe A ' ff

(a) wifersm pEa & 29

(F) METEaA. ({SO) wHmiF |

(3-071 ~14607 3 2,500
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BBA/D-19 14608
BUSINESS LAW-]
BBA-301
Time : Three Iours] | Maximum Marks : 80

Note ; Attempt Five questions in all. Q. No. 1 which is
compulsory. All questions carry equal marks.
A Uid yeAl F I difSm | e vem 1 afEd
2 owf v % o owAe E

1. State and differentiate the following :

(ay Bailment and Pledge : 3

(by Contract of 5%:5:.4 and Guarantee 3

(¢) Cheque and Bill of Exchange 3

(d) Holder and holder-in-due-course of a negotiabie
instrument

(¢} Contingent and quasi-contract 2

(f) Agreement and Contract. 2

frafafeg & 3 T ST .
(31) “HmE R wlEn

(9) sfaqid ik e w1 e
(") I% qu & fTw

(34312 -14608(TR) P.T.O,



(3) T 9y faed & une ik Fgd 999 © 9o
(3) wforw &R a1 sd-smEey
(%) Wi st &qEy |

Describe and explain the importance of ‘Free Consent’
and ‘Consideration” in a contract under the Indian Contract
Act, 1872,

I wfem st 1872 % wra Sfam & e e
o fomel = wEw w wARER 9w & Wit |

Who is an Unpaid Seller ? What are rights of an unpaid
seller under the Indian Sales of Goods Act, 1930 ? Explain.
wﬂd@%%%ﬂwwﬂﬂﬂﬁ%g&%ﬂ
1930 & qeq o=@ faka # F| afuER ¥ 2 swEm
ST |

What do you understand by the doctrine of *Quantum
Meruit’ ? Identify circumstances where in claim under
quantum meruit arises.

Fien vz % fagia § o w1 g & 7 wfiftaf w5
T ifSu 599 srrin saven ®fic so= B

What are cssentials of transfer of property 7 Also, explain
whv is the transfer of property in good important in the
pertuimance of the contract of sale ?

TN R W F AEvEwad ¢ 2 fawT wew %
foeT 7 o A wefe e am geegel § 2

L-11498(TR) 5

What do you understand by the principle of ‘Caveat
Emptor’. What are exceptions to it ? Explain.

Al WA F fogia @ o w oomw § 2 e @
A9EE ¥ 7 wem wifan |

What are rights and duties of bailor and bailee under
Indian Contract Act ?

TR Wi wfafrem & sfwly smrm <3 a9 ol Seee
T OEA W F O SRR o ey § 2

What do you mean by dishonour of a cheque ? What is
the legal recourse to the agrieved party in case of bounced
cheques ? Explain.

W AT ¥ AR A R A We % wes
" fifed g9 ® wrgh oman wn

el
=
R
=
lod.
—E-i

43N vahmi R 834
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OBBA/D-19 14609
PRINCIPLES OF BANKING
BBA-303
Time : Three Hours] [Maximum Marks : 80

Nove : Attempt Five questions in all, Q. No. 1 is compulsory.
All questions carry equal marks.
T Ui v IW oSife 1 we dewn 1 afind
2wl oyl @ ofF omm F

1. State and explain the following in brief :
(a) Concept and essentials of banking
(b} Payment banks
(¢c) Priority sector lending
(d) Lead banking
{e) Retail banking
(f} E-Banking Challenges 16
Freifafen =1 Wen 4 9 3 sgem S .
(1) dfFm 3t sEuron qu sifiardad
(F) qwe %
(7)) wafwrar €3 =W
(%) e S
(3) U AE
(%) &S gt

(3-451) [ ~14609(TR) P.T.O,



Critically examine the functioning of public sector banks
in India, 16
RUCEG I CE e E R Ca i 0 - T e e
e wmifae |

Why are non-performing assets endangering bank
sustainability in recent times ? What measures would you
suggest to improve credit culture in India ? 16
T & R A T-froofm awf S F o 5 @
¥ T @Y 2 v ¥ e el s ew e
fow a9 @ U ggEn 2

Describe the principles and the functions of bank

management. 16

mﬂaﬂﬂﬂﬁi%ﬂ%ﬂﬂr%_

Write a detailed note on the banker-customer

relationship. 16

qF-TeH TS W U AR it fafey |

Chronicle banking sector reforms in India since,
1991. 16
1991 & W@ ¥ FemwER 4F &7 ¥ qur = aol
FIY

{.-14609(TR) 2

7.

3
~

A

Tad

How effective is the regulatory framework of banks in
India to address varied challenges of transformational
economy ? Explain. 16
e srefemarn @ ffam it @ foed $ fao
@ H T W FrEwes hE feem yeE € 2 s
FIfT |

Critically examine the challenges in the digitisation of
banking operations in India. 16
W ¥ A duem w1 RfEwo ¥ gt @
ArE=FTAs Teaw Ffem |

=50



7. Define ‘Forccasting’. What is the importance of forecasting .
Roll No. ....... Total Pages : 04

in financial devision making ?
TgHTA # ufrfed it o fade flg foin § gEige BPO/D-19 18798
w1 T REE E - BASICS OF FINANCIAL MANAGEMENT
BBPO-501
Unit IV (7@ IV)
Time : Three Hours} [Maximum Marks : 80
8. “Working capitai management is nothing more than
deciding about the level, structure and financing of current Note :  Attempt Five questions in all, selecting one question
agsets.” Discun - from each Unit. Q. No. 1 which is compuisory. All
“oTERTel S WA aaee WiERd ® /R, 9 S questions carry equal marks.
feratam & av ¢ folg o | g e T " Tl TOF TR W Tk T I ZU, R/ 9 WS @
Fifem | S ANY | Y wWem 1 atEe g w9 W
% §IH ¥ |

9. Why is dividend policy important for a company. Also

discuss the varivus determinants of dividend policy in a Compulsory Question { 31FeTd 7g)

company.
TF FA F forn aniw fa W wewyl ¥ 2w s e 1. Attempt the following :
4 euiw Aifs = fafvm fufe o o 9ol S | (i) In what respect wealth maximization objective is

superior to profit maximization objective ?

(i) Difference between NI and NOI approach of capital
structure.

(1i1)) Enlist medium term and long term sources of
finance.

(iv) What are the costs and risks of holding inventory ?

1 ~18798(TR) 4 50 (2-45/7) L-18798(TR) 3 P.T.O.



Unit 1 (3¢ 1)

2. What are the main functions of the Modern Enmsﬁ_
Manager ? How do they differ from those of the traditional
financial manager ?

MYFrE TS TR ® TG FE @ € 2 9 T
T TodF Al eem § 7

3. What is Financial Planning ? Discuss the principles of a
sound financial plan.
fods friem 7 2 2 © o= P dem @ fazi
AR |

Unit IT (301¢ 11)

4. Define Cost of Capital. Discuss in detail the steps involved
in computation of WACC.
st # @ R afonfim FIT ) WACC & Ry o
fafea =T #1 famm aulr i |

L-18798(TR) 2

frafatmm & s dfag .

B T&w Wed A ¥7 Afywmodeo TRy oww

sfFafiET SR ¥ e & 2

(i) S WA F NI e NOI 397™ W 9RO
s |

) g + 799 @ 99 W9 % w9 w® TEes
Hife |

(iv) 4w fEw # oem At Sfem s ¥ 2

3.

Project X (Rs.) 10000 2800

What are the important factors te be considered in planning

the capital structurc of a compam
TF S 1 gl G $1 SR e s T Oy
e HRF A T 7

Unit IIT { 5&13 111 )

Three projects have been sugpcsted to BPL Company.
The CFAT of them are as follows

Year 0 1 2 3 4
000 4000 4000
Y (Rs.) 18000 6500 6500 63500 6500
Z (Rs.) 30000 6000 10000 12000 16000

Assuming 10% cost of capital, rank the projects based on
P.I. Method.

BPL #wt @ 19 dtemid gaE T € 1 39 ¥ CFAT
g wwr ®

e 0 1 2 3 4
4000 4000

Y (&%) 18000 6500 6500 6500 6500

AT X (F) 10000 2800 3600

Z (5) 30000 6000 10000 12000 16000
10% Y @R 9= ge Pl fafa 90 smafm et o
ofl FAET !

(2-45/8) 1-18798(TR) 3 P.T.O.
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BPO/D-19 18799
BUSINESS ETHICS AND CORPORATE
GOVERNANCE
BBPO-502

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory

comprising five questions carrying 4 marks each.
Atterapt one question from each Unit carrying 15 marks
each.

w A WA ® IW ARG | W wWem 1 sifEd
t Py ufe oum R M Y wew o4 s ow
TRF HE W UF W I ) ST wet 1S st
Coll S :

1. Write short notes on the following :
(a) Types of ethics {b) Insider trading
() Code of conduct (d) Rating agencies
(¢} Gandhian Trusteeship.
ffafee = wfra feafe fafen .
(a7) dfewar & wER () FIERS =R
(¥) =R ¥ () M wrt
(3) MR Tem

(2-25/9) L-18799%(TR) P.T.0.



2.

CUnit [ (3R 1)

What are Business Ethics ? Explain business ethics in
different organizational contexts,

=R Afewad wn € 7 fafwm @Al # weY § s
SR 1 =@ FfT |

What is code of ethics ? Why is it necessary ? Explain
the importance of ethics in business.

STOR Hfew &1 B 7 98 ¥4 onavas € ? =R o
Iferd & Tew w1 avR Ffw |

Unit II ( T&TE I1)

Critically examine the Stakeholder Theory and Friedman
theory of Business Ethics.

fequne fagm 1 oo wham Hfm 9o wEeis
* =R Afewa fagd @ avh Fif

Discuss the characteristics of Ethical Organization. Also
explain the connection of business ethics and corporate
governance.

A we H st @ avh i | s S
i widte Toig F d@9y B 9@ 9o R |

L-18799(TR) 2

Unit 11 ( 378 T )

Discuss the advantages and disadvantages of whistle
blowing. How is it considered to be need of the hour ?
€& a5 & g @l W oav Ffm @
T SAVIHAT HY WA VT 8 7

Explain some critical areas of corporate governance,
Discuss the ICAI guidelines on corporate governance.
TR YR F FP wewq & ) =ven s |
FANE ToHT W ICAl & AMEw &1 99 S |

Unit IV (318 IV)

What is Ethical Leadership ? Discuss the traits of ethcial
leader. Is it possible to be an ethical leader in today's
competitive scenario ? . |
o Ag T R 2 TR T W oA Wi | e 8
%&qﬁamﬁﬂﬁ%%‘ﬂﬁﬁmﬂww

Explain the responsibility of business to protect consumer
and environment.

SYAE T TR W @ A AR # st
H B FIfGU |

(2-25/10) L-18799(TR) 3 o
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BPO/D-19 18800
SERVICES MARKETING
BBPO-503
Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting one question
from each Unit.

FA T I % TR A L vEwm "o 1 st
T TEE TEE U OTE WA TR Y YR W @R
HifsT | o

Compulsory Question ( 3TFER wy)

1. Write short notes on the following :

frefafen W diaw feafral fafew .

(a) Core Vs. Supplementary Services.
FR W TF TOd |

(b} Service development process.
o1 fowm whwa

{c) Problems associated with service price fixation.
Ha1 Tem fedew ¥ 9 avEd |

(d) Internal marketing.

I=RE fague |

(3-47/7) 1-18800 P.T.O.



2.

Unit I = 1)

Throw light on SERVQUAL model of service quality.
Discuss its five broad dimensions.

Fa1 TR F SERVQUAL Wiger W Wi S | 7o
g 92 Ml # Ui FIfNE |

Do you see a difference in goods and service buying
process ? What are the implications of the same for

marketers ?

T 3t Tad =l wiEa § eW wm &l w ¥ 2
foot & fo O = AEEE © 7

Unit I1 (318 1)

What bases can be used by a bank to segment its

marketing ? How can the same be targeted ?
% frve = fmved &0 % foT 8% g0 YR MR
w1 ¥ 7 3R $Y wfgg X THEA B 2

What leads to service failures ? How can the failed
serves be recovered by marketers ?
Uq SHETY FN AW WgEl & 7 STHEH Haned Hi
froat g F9 qu fEm W g 2

L-18800 2

(3-47/8) L-18800

Unit IIX (373 I11) -

What problems are encountered by marketers whiw
promoting their services ? Discuss various elements ot
service communication mix. _

T Qe i G gra ol W R wmems e
WA 0T TEE B 2w FEm fpm @ fafuw gel

o W |

How can services marketers ensure prompt and hassic-
free delivery to customers ? Discuss best practices in thi-
regard.

a1 forqors U] w1 @G SR wer gEa fedad
gfifye #72 Ta € ? 59 Wy § FamE vEr & Ao

FHifT |

Unit IV @& T3 1V)

Why services personnel are so important 7 Why shoul.

)

they be considered internal customers by marketers
T w6 T wew = € 2 3% fauv! g erwfre
TEE F A A AT ?

How can the service companies ecnhance cusions
participation in services ? What benefits can accrue o
account of that 7

Tl § TEE aniEd W wal e HE 9w
el € 7 T HRO oy IR TR S T €



1 207 D\ FON Total Pages : 03

BPO/D-19 18801
RDBMS WITH ORACLE
BBPO-504
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. In addition to compulsory
question, attempt four more questions selecting one
question from each Unit.

T GEA 1 e 2 1 vEw R ¥ U v 9
T A9 W 9w I AT 1 ad we ® ot

i B
1. Define the following : 2+2+2+4+4+2
(a) DBMS (b)Y De-normalization
() SQL *plus (d) Alter table command -
{e} Where clause (f) Embedded SQL.
frfirfam 1 oo AR - |
() DBMS (3) feAiHemEsem
(8) SQL *plus () R I FAEE
(3) Where clause (%) Embedded SQL.

(2-25/5) L-18801(TR) P.T.0.



Unit I(3=E 1)

What do you understand by Data Model ? What are the
advaniages of using relational data model ? 16
TR HIEH H o9 w1 wwe ¥ 2 folvdw T oew @
Eeiic i B I

Give an example to illustrate the normalization of a
schema from 2NI to 3NF. 16
2NF 9 3NF ¥ Schema F WHRiRW F:t avf $ fag
TR ST |

Unit 11 (3T 11 )

What is DDL ? State rwo examples of DDL commands in
SQL. 16

uwrﬂq.wwmormuuhﬂaﬂﬂ%ﬁﬁﬂa&aa_.

What are Integrity Constraints ? How these can be applied
on Tables ? Give example. 16
e e A ¥ ? Tables W OSTHRT WM S
S ? 2 IEm i )

Unit IT ( 318 11T )

Create a table of your choice (with at least five columns)
to store the details of employees. Show the working of
displaying table information in various ways using select
command. 16
FHANA ® o FORR wH # fu ($9 § F9 O
HICH) T TR H TG WARU | WAHG SO T
IR e P ol § e e vl we
w1 Tl feerd |

L-18801(TR) 2

7.

Define the following :

(a) Joining the records of two tables 8
(b) Aggregate functions in SQL. 8
Fr=fafaa =t sftvme <t .

(%) 2 et B AtdE B o

(9) SQL # w9w e |

Unit IV (318 IV )

Explain the various data types available in PL/SQL. 16
PL/SQL ¥ 3verey fafe star Wl =1 9ol S |

Describe the basic structure of the PL/SQL block. 16
PL/SQL =1 1 MURYE@ W& &1 9o #ifsw |

“

@25/6) L-18301(TR) 3 P



9, (i) How an MS-Excel Worksheet linked to a PowerPoint
Slide? ®
(i) How Transitions, Sound and Time applied to PowerPoint
Slides? (8
() TRTY.-TFS gEEe R TR R wmve wnE ¥
AT Bt 77
(i) Hfat @Rz wEEl § gteR, wewe R o (vvm)
5o =R v el m ¥?

20136/100/KD/333 4

Roll No. . ) Total Pages : 4

BVSD/D-19 20136

PC SOFTWARE
Paper-BVSD-12

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory.

T TFEE AT IE S TN FAL T AT 5+
I A e . 1 S &

COMPULSORY QUESTION
( shErE ue)
1. (1) How is the Date and Time Setting done in Windows?
(i) Differentiate between Copy/Paste and Cut/Paste.
(iii) What is the purpose of filtering in MS-Excel?

(iv) What are the advantages in using MS-PowerPoint in
making Presentations? {4x4)

() v § fafy o == w0t A 9 = I 2
(i) Fd/ARZ 99 H/RE F AW IFW HIALN

20136/100/KD/333/Trans. {PTO.
28/11



(i) TE.-uFe d freefn = v stww ¥
(iv) TETEYH FH H UH.TE.-UTET WEge A ITET T F

7 v 7
UNIT-1
(¥T§-1)
(i) What do you mean by Control Pane!? How it is accessed
in Windows? (3.3)

(i} How the Display Properties are adjusted using Control
Panel? (10)

() ®udiet b A am T T ¥ favde O @ &
TR (I9EM) frm v &2

(i) Fogel T W SUE A gY fevm ¥ il + fFm
R wErEee fRar s &2

Explain the Files and Folders Management in Windows. (16)
favere 8 well ofit wieedl ¥ weud #) = Fifg )
UNIT-1I

( T=m-11)

(i) Discuss the features of MS-Word. (8)

(i) Write down the different components of the Word
Document Window. (8)

() THE.-FL F O HI =G FHoQ )
(i) o€ TR faver * i wewl w fafe)

20136/100/KD/333 2

Explain the facility of Mail-Merge available in MS-Word. (16)
TATH.-F€ o SUe Ue-0si &t Glawn $1 sare Hifg |

UNIT-III
( vEm-1m)

Explain the Validation feature available in MS-Excel. (16)
T .TH .- § Syt v 1o St e Fifeg |

Using suitable examples discuss Sorting in MS-Excel in
detail. (16)
T I F ITET FQ FL TS A e
fmm & v Wifom

UNIT-IV

(FE-1V )
(i) What is the main purpose of MS-PowerPoint? How & new
slide is created in MS-PowerPoint? 35
(i) How charts are inserted in a PowerPoint presentation?
®
(i) TATE.-YfR @MU & S 7 ¥? WU~
R ¥ 7 W FR R 5 e 2
(i) IR =mEve RRvvE ¥ 9 fFe TR SR Y e ¥

20136/100/KD/333 3 [PTO.
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BVSD/D-19 20137

OPERATING SYSTEMS-I
Paper-BVSD-13

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. selecting one question from

each unit. Question No. 1 is compulsory.

Az TEF THE Y T TA F A A G, T T T
I A 7w €. 1 FfEd E)

COMPULSORY QUESTION
( AP wer)
1. (i) Explain various operating system services. 4)
(ii) Explain various states of a process by drawing a diagram.
@
(i) What is thrashing? How is it handled? 4
(iv) What would be the effects on cost and performance if tape

storage had the same areal density as disk storage? (4)
) fafu= sfefen firem dasit =t = =ifa
(i) T YatE TR 9w () 9 fafes el w
= T |

20137/100/KD/334/Trans. [FT.O.
212



(iii} ﬁaﬁwuﬂﬂwﬂﬂsﬁﬁzﬂgﬂﬁ
(iv) ﬁﬁn@ﬂﬁnﬁﬂwﬂ%@ﬁ:@ﬂwﬁﬂ
T A e i - free g i

UNIT-I
( ¥1$-1 )

2. (i) What are the functions of an operating system from user’s
viewpoint and system’s viewpoint? (8)
(i) Describe the major characteristics of Real time Systems
and Distributed systems. 8
'R ﬁgﬂwﬂﬁs@mﬁﬂﬂ&mﬁﬂs@g

e fren & =0 w5 §2
(i) Eﬂﬂﬁ?ﬂnmﬁ@ﬁﬂ%ﬂ@ﬁdﬁéﬁm&

=1 i Fifere

3. What is a system call? What is the need of a system call? How
is it different from a subroutine or a subprogram? Also discuss

various types of system calls, (16)
T =i P &2 e e & 1 swrrvaran &7 a7 waed
ST FA-TN (39-WE) | R TR e 82 @ @
fafv= o & fivem =t = it ot wifre

20137/100/KD/334 2

UNIT-II
( ¥&T-11)
4. (i) What is the use of Process Control Block (PCB)? Also
discuss the contents of PCB. 8

(i) What is a process? Discuss various operations on
processes, ®

() Ew T w=E (TR 1 I9EM §? w6
Uit & wveve (favg-mnnh) = v ==t e

(i) O™ (wfFa) ¥ 0w ¥ e weeel 9 ==t
Hifog

5. What is CPU scheduling? Discuss SJF, Priority, Round-Robin and
Multi-level Feedback queue Scheduling pointing out their benefits
and drawbacks, _ (16)
it g o &2 T o7 v < 1 o g e,
it Teve-Afm 1d Ted-de wisds T fregfem 5
==t Fifem)

UNIT-II1
( 3®-111 )
6. (D Discuss memory management in single-user and multiuser
operating systems, (6)

(i) How can we implement segmentation with paging? Explain
with suitable diagram and example. (10)

() MFe-STRT qo g SRR faen §
TR (FE ) = s

20137/100/KD/334 3 [PTO.



7.

@ﬁ:wﬂﬁﬂn@idﬂjﬁﬂ@ﬁé@ﬁnﬂm

fpafan T 9 ¥? SugR fEfee e 35 v
RS TS |

(i) Consider the following page-reference string

1,2,3,4,2,1,5,6,2,1,2,3,7,6,3,2,1,2,3,6

How many page faults would occur for the following
replacement algorithms, assuming three and four frames?
Remember that all frames are initially empty, so your first
unique pages will cost one fault each.

(i) LRU replacement (ii) FIFO replacement (iii) Optimal

replacement. (%)

(iiy Write a short note on virtual memory. ®

o) Frefafes 3= wE fEn v faem =i -

1,2,3,4,2,1,5,6,2,1,2,3,7,6,3.2,1,2,3.6

&= =1 aw Fm W we frefafea qhre wEE 3
s e wiee Tufem € M W@ fE ad B T
3 et ¥ o s wum s gl # wed & g
T B TR

(i) LRU 9RTEM, (i) FIFO WiaerTH, (iii) E: e o
Tfeeend |

@ﬁm@%ﬂﬂ%mﬂ&%_

20137/100/KD/334 4

UNIT-1V

( TwE-1V)

8. Describe various disk scheduling algorithms with the help of

suitable examples. Also compare these algorithms. (16)
TrgE ST ) gwEm @ v e figgfen we-
faft &1 aue FfEw) @y € T -l w1 gem @
S

9, (i) How does DMA increase system coneurrency? How does

it complicate the hardware design? (8

(i) Explain STREAMS and distinguish between a STREAMS
driver and a STREAMS module. 3]

) DMA e T feeed Y s (i) i agm
7 7% e feomd 1 7R ¥R e & ¥2
(i) == (STREAMS) ¥ =arem Hifwg ot ¥ e

U g HEgT § oW TR R

20137/100/KD/334 5
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BVSD/D-19 20138

PROGRAMMING FUNDAMENTALS AND C
Paper-BVSD-14

Three Hours) [Maximum Marks : 80

Attempt fhe questions in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions carry
equal rnarks.

AT FE W UF IR F 9 FQ L, T wH W F

TR AT 7§, 1 sAfrEd ) aft v Foow whm §

ﬁOvnm.chO_ﬂﬂOdmm_—,_OZ
( s ued)

{iy What is an interpreter?
iy What is associativity of operators?
(i) What is the use of register storage class?
(iv) What do you understand by type casting?
(i) U W 7
(i) SRS (FFri) F wE=d 7 82
(i) TR =R ™ w1 &1 37Em 2
(v) Tq FRET q 9 FN AW B7

20138/100/KD/335/Trans. [PTO.

512



UNIT-1
(1)

2. (D What is algorithm? What are its characteristic features?

Discuss.

(i) What is the difference between hi gh level and low level
programming languages? Discuss their merits and demerits.

() we-fafy =1 32 o=t vom vt w= §7 ==
FifT

i) 3= =l SR e = Sfin s § s s
2 57 T oikk 2t = = i

3. Write the algorithm to find the largest of three given integers
and draw its flow chart as well as decision table aiso.
ﬂ%%m@gﬂﬁﬂ?m&ﬁwﬂmﬂg
@Eﬁ%ﬁm%ﬂﬂﬁﬂﬂﬂmmﬁ?ﬁa&g
it |

UNIT-II
(i-11)
4. (i} What do you understand by bit-wise operators? Discuss
the bit-wise operators available in C language.
(i) Write a program in C to find whether a given integer X is
divisible by 3 or 5 or both by 3 and 5 or neither 3 nor 5.
20138/100/KD/335 2

() Toe-amw (fae-ar) e (Afger) ¥ 3 0 gue
&2 C v 3 soeey fae-amw WerEl ®) T i

(i) T g yoter X 3 0 S @ 319 3 wH 5 D Y
T3 RARIAs ATt , mam e &
e ¢ & o e fafe

(i) What is the difference between break and continue
statement? Discuss.

(i) Write a program in C to find the prime numbers between
Xand.

(i) Break (3%) ¥ Continue (o)) F49 § w1 37=R
#7 =i i |

(@) X MY ¥ dr= Ft swea dermd 3@ w0 ¥ fow
W § w W ey )

UNIT-IO
( wad-m )
() What is recursion? Write a recursive function in C to
compute the factorial of a given number N.
(i) What is the difference between auto and static storage
class? Explain using suitable example.

20138/100/KD/335 3 | [PTO.



) fra 7 47 ¥ Th W N ¥ g 0 T F
fem ¢y & oF fepfda wem fafae)

i) St T 2w ©ne o ¥ e T o 82 IugE
IO 2 U SESAT it |

7. What is an amray? Write a program in C to read an amay
of integer and find the largest odd and even numbers in that
array.
ﬂﬂﬁﬂ?ﬁmﬂ&uﬁw@nomﬁﬁzﬁﬁﬂ
s 38 0§ e o frm oft on demd T@

UNIT-IV
(TRE-1V)
8. (i) What is the difference between struct and union? Explain
using suitable example.
(i) Write a function C to swap the values of two integers.
0] mﬁgﬂwﬂmﬂsﬂﬁﬁﬁﬂﬁaﬂﬁ%
e FHif |
i) & Tl ¥ WA R SeEn-weet (=) FA ¥ fag
¢ w3 umw wer fafau

20138/100/KD/335 4

() What is pointer? Write a note on pointer arithmetic.

(i) Write a program in C to read, write and process some
employee records using struct. Make and specify
necessary assumptions.

i) ST ¥? v qudfed WU e e

@qﬂﬂﬁmﬂﬁﬂ&ﬁﬂﬂﬁﬁ&wﬁadﬁ
forart Ao e F ¥ g v § o T fafen

20138/100/KD/335 5



9. Differentiate between procedures and functions. How these Roll No. e, Total Pages : 8
PL/SQL objects are declared? Explain different keywords and __

parameters used in such declarations, (16) BVSD/D-19 20139
SR Ao R H SRR B 9 PL/SQL SsR W Eww.wﬂmu.:

T 2 o 22 T St v e

(e wr=Y) T e it = wifw | Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

In addition to compulsory question, student will have to

attempt four more questions selecting one question from
each unit. All questions carry equal marks.

A2 T uW T F I AT gW G, 1 oFEE &) sifEr
S % iR, frend w1 wers T A T we
T FW TR 5 T F I i v ¥ s

TquH &)

COMPULSORY QUESTION
( afrat wys)

1. Write short note on the followings :
() Data dictionary.
(i) Data integrity.

20139/000/KD/336 8 20139/100/KD/336/Trans. (PTO.
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(i) Database anomalies.
(iv) Define multivalued dependency.
(v} Truncate statement.
(vi) Referential integrity constraint.
(vii) PL/SQL block.
(viii} SQL for import/export.
frefafas R dftra femoit fafay .
() <=1 Femr)
(i) S/ Y srEvE (A |
(iif) BT STHvfery
(v) Teidegg fei¥s =1 afonfya Hifs)
v) T2 W (FUF) |
(vi) YwifeEm AR FETE)
(vii) PL/SQL = |
(vili) eI/ ¥ SQL.

UNIT-I

(w-1)

{8x2=16)

2. (1) What is the difference between database users and

database administrator? Discuss the job and responsibilities

of database administrator.

20139/100/KD/336 2

(i) What do you mean by data independence? How three tier
architecture helps in achieving data independence?
(8+8=16)

e_ﬂﬂmﬂﬁ&ﬂ_mﬁ@ﬂ»ﬂnﬂaﬂﬁﬁﬂﬂﬂﬁumﬁ
A &7 TEET iR % #d aun i a =t
EAErd

(i) T A (T TreivEa) § A9 T w9 §2 I
i wa wA O ety 9 58 R T
Tl 87

3. () IHustrate the various notations used in designing an ER

diagram. What is the purpose of these notations?

(ii) List and explain the rules provided by Dr. E.F. Codd. How
these rules are important in RDBMS? (8+8=16)

() ER fo3 = & wgm fafim eem (@) #1 W=
FIFAY 1 7 A = Ry B2

() = {uw. w50 wewie e F gEag $ifag sk
T | RDBMS F % fram fFe yor wewqel €7
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UNIT-1I

( F-11)

4. (i) Consider following schema and represent given statements

in relation algebra form.

® Branch(branch_name,branch_city)

@ Account(branch_name,acc_no,balance)
® Depositor(Customer_name,acc_no).

(a) Find out list of customer who have account at “abe’

branch.

(» Find out all customer who have account in

‘Ahmedabad’ city and balance is greater than 10,000.

(c) Find out list of all branch name with their maximum

balance.
(i) What do you mean by join? Discuss different type of joins.
(8+8~16)

() Frafafas woEn = faar #ifsw siv demirda g

¥ o T TR w T e

@ Branch(branch name,branch_city)

@ Account(branch_name,acc_no,balance)

® Depositor(Customer_name,acc_no).

(%) TEw T A G TR FfoQ TR G abe’ A@n

¥
20139/000/KD/336 4

(b) & Tfi TEE T HifwC AR G Ahmedabad’
( srgwTere) wee | ¥ ok me o 10,000 & otfirw
ufn ¥

() 37 it yranstt ¥ ™ w1 g I Ffoae
77! atfian 9w ¥

(i) Join (F8TE) & 3 ¥ g ¥2 Faf= woR % Join

= Tl Fifsw)

() What problems can occur due to wrong database design?

How they can be solved?

(i) Define functional ao_um:,mgow. Explain full, partial, trivial

and non-trivial FD with example. (8+8=16)

() T TIEAE TEwET ¥ HRm w aHEd e g /el

7 T gAY foEar W T &2

(i) HEee feduddh =y wftwifra Fifeg) qof, Hifes,

fefrae aan AF-fefae Twst ¥t SSw =i =
E g

20139/000/KD/336 5 [P.T.O.
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6.

UNIT-IIT

( yE-111)

Implement following relation using SQL query

@) m:.&n:gmﬂcalso_mﬁcaizmao_mcd_“mc_um, totaimark,

percentage) Create the table, add 3 records and display
the data.

(i) Calculate total mark and percentage and also arrange the
students on ascending order of total mark and also make

a view of it.

(i) Update the mark of subl of student_no=111 with 50 and

also Calculate totalmark and percentage accordingly.
(5+5+6=16)

Srefefan T W SQL R =1 yam Fwa gu et
g

® mEam:RmEa!:o.mEalnmEm,m:w_,mz_um“ totalmark,

vnaoa_._g_m&.d_@ﬂw_ﬁd%_ 3 faprE wavfa e
o = % wEia S

(i) ﬁﬂﬂﬁ?%:ﬂ%%ﬁa@mﬂi
¥ e o § frfal 1 st Fifwg o T 0

=7 (W) ot FaR wfe

20139/000/KD/336 6

(iii) SO % T student_no=111 & subl ¥ i 1922 Ffwe
it e & AETER eotalmark T percentage (Wfaw)
Ft o i

() Write and explain the syntax for creating composite, unique
and function based index.

(i} What do you mean by updateable views? Discuss the

common restrictions on updateable views. (8+8=16)

() e, A aen R onft e it
g fieam ffew 7ur =men Fifw

(i) TR TRYT (srvdfeue =) & s A
¥2 STereia wevtn & W R % = Hi

UNIT-IV
(yg-1v)
() What is cursor? Discuss different type of cursors.

(i) How cursors are declared? Explain the functionality of

Open, Fetch and Close commands, (8+8=16)

@) FHR T ¥? A v F 5 R == i
() FH F o fRe YR # 6 32 sima, ¥ 1o o
FAOS F1 FEYT ' =rEn FHfg |

20139/000/KD/336 7 (P.T.0.
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BVSD/D-19 20140

DATA STRUCTURES
Paper-BVSD-32

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
In addition to compulsory question, student will have to attempt

four more questions selecting one question from each unit.

All questions carry equal marks.

AT : T ulw v F TR &)y F, 1 st ¥ afeEd
T ¥ afafc, frmeft @ v T ¥ T T W
T97 FI8 L WR 5 Y 6 I 3] 1 ol 3l F ofw

A £
COMPULSORY QUESTION
( st wy)
1. (i) Name the various ways to store data in computer.

(i) How array is stored in computer memory?
(i) What is a two-way linked list?
(iv) How stack is stored in computer memory?

20140/100/KD/337/Trans. [PT.O.
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(v) What is Polish notation?
{(vi) What is Binary Search Tree?
(vii) What is path matrix?
(viiiy What are the complexities of Linear search, Bubble sort
and Radix sort? (8x2=16)
() FR ¥ TR wyoeRa =7 ¥ fafu=r whei % T fefm
(i) FgR B F (T A U fFw yoR S 0 ¥
(i) Z-3 feiwe (famvl waifm) fore () = 0
(iv) TR T Wi § =% 59 yEn vyt oy 8
(v) WfAw FevA @ &7
(vi) T = | )
(vii) wer Afgam w2
(vit)) T T, wam o qur tewm 9 ) wireand
= §?
UNIT-1
(vwr-1)
2. () What are the various operations that can be performed on

various data structures in general? Explain. (8

(i} Write an algorithm to match a pattern within a given

text, (8)

20140/100/KD/337 2

(i) 3 FR-F fafim Sl # fr¥ o Bk W fafe
T I W femtea R w42 sen St

(i) TF T 2H2 | Rt Yo @ frem & fon wem-fafy
fafam)

3. (1) Discuss various types of classifications of data structures

in detail. 8
(i) How can you store a sparse matrix in computer memory?
Explain. ®)

() = vor F T B9 (mEm) F ailwo 5

fargEs ==t wifa)
(i) TR T i § o v Ay frw yww woef@
I TR ¥ e wifemy

UNIT-II

( ¥=T$-11)

4. Write down the algorithm for deleting an element whose
information is only known from a linked list. Explain the algorithin
using suitable example. (16)
TF W s it el (wnra) w9 % fn wem-fafy
Tty e = Fam o ffwe fore (tfm = @
1 ¥ | SUGHRT IR F FE TR g For-fafa 7 sen
Eqic 1y _

20140/100/KD/337 3 [PTO.



. Explain various types of queues along with their representation

in computer memory. Also write an algorithm to insert an element

in a queue. : (16)
FR FiT A v 7R % 3 (97) W) 3T weel Wi
e Hfan ) @y 5 g 3 W same st s F
fom wem-fafy o fafaw)

UNIT-IIT
( v-111 )

() What do you mean by threaded binary tree and balanced

trees? Comment on the need of both. (8)
(i) Write an algorithm to search an element in a BST.  (8)
() 9T ATt F 9o doiee A ¥ a9 v TIew B2

Ft sTEvaERa W et wifg
(i) BST & ¥ sTo9@ o & forq wem-fafy fafew

. What is heap sort? Write down an algorithm to sort the

data using heap sort. Explain the algorithm using suitable
example. (16)
¥T W F §? €9 W #1 o W g e vid & faw
For-fafy fafay | Ivgea semeo =1 ¥ar #@ gu Fom-
fafy =t =ren #ifsm)

20140/100/KD/337 4

8.

UNIT-1IV
( FE-1v )
(1) How can you store a graph in computer memory? Explain
in detal. (8)
(i) Write an algorithm for finding the shortest path in a
graph. ®
() FR F WA F T IE B FA GU=NG w TFA
?? frangE= = Fifa)
iy frdlt W A wgaw vy §@ F@ F Ay F-fafy
fefaT

(i) Write down an algorithm for searching the data using binary
search. - 8)

(i) Explain selection sort using a suitable example. ®

() T W (@) T IEW FW W = @A F g
wem-Tafy fafem )

() STTT I2ME F TN FE G VOIH Hie FY =
I

20140/100/KD/337 5



UNIT-IV

( TFE-1V )

8.  Explain various software testing strategies. Emphasize on Unit,

Integration and Validation testing. (16)
Tioedw T &) fafe wafvel = =men $if) giw,
3R ae e Tiyw = e wfEn)

9. Explain software maintenance and various ways to
manage it. (16)
TIRER TETEE T 39% Yoem & faf= 7hsi = =ren
Fifaa |

20141/100/KD/338 4

Roll No. oo ._ Total Pages : 4

BVSD/D-19 20141

SOFTWARE ENGINEERING
Paper-BVSD-33

Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

In addition to compulsory question, student wili have to attempt
Jour more questions selecting one question from each unit.
All questions carty equal marks.

FE uls T F IR w1 eifemd ¥ afae
v & o, fomefl = vo@s o @ = 1\ =
TF7 FIA TE AR 579 790 F W 2| ¥ 1 ;f vl F ofw
= ¥

COMPULSORY QUESTION
( 3@ ued)

() Abbreviate : COCOMOQ, BVA, SCM, DFD.
(i) Draw major boxes used in E-R diagram.

(i) Write note on Beta Testing.

(iv) Whatis V and V? (4x4=16)

20141/100/KD/338/Trans. [PT.O.
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3.

() T ™ fafEw : COCOMO, BVA, SCM, DFD.
(i) E-R T % wg i@ atew w5
(i) =2 wherw W el fafam)

(iv) VI v &= 8?2

UNIT-I
(w1 )
What is software engineering? Explain Waterfall mode] with its
mertts and demerits. {16)
WizawR $SfafeT an &7 o w1 <t qfen Fewla wied
! RSN AT
() Discuss quality assurance and its role in cost-estimation.
(i) Discuss Putham model. (16}
() T e F w9 R ok ara-TEm § seet
yfir fafe |
(i) Jorm dfEer w1 ==t Hifegy
UNIT-1I
( ¥arg-11)
(i) Explain DFD for an Inventory system. (10}
(i) Write note on non-behavioural requirements. (3]

() f&d Taf fowm ¥ fw DFD # =me=n wifem)
Gi) TR-saaEfiE ae-ast w oo fafan )

20141100/KD/338 2

(i) Explain software design fundamentals.

(i) Discuss relationships of coupling and cohesion.  (16)
() WRAT Feame & WeE T H AR ey |

(i) FUMCT AW FRET & T F 99 FHAC)

UNIT-III

( ¥=-11)

() Explain characteristics of good-coding.

(i) Discuss functional testing, (16)
() THu-FfEn = frimast | =ren $ifw)

(i) RS T H == Q)

(i) Explain structural testing,

(i) Discuss equivalence class testing. (16)

() FrErT W (TR ) w5 e wifag)

(i) Fgea = Them (EdSE Faw AfRn) & w=i
FHifee |

20141/100/KD/338 3



7. Write shott note on :

i) JAMM. (8
(i) Gaglia. 8
dftra feurof fafaw
(i) JAMM,
(il Gagha.
UNIT-IV
(FET-1V)
8. (i) Explain the structure of X509 certificate used in grid
security. ®
(ii) What are different issues in grid security? Explain security
primer in brief. (8)
() frs o & v X509 wféfree = @0
T HST |
i) fire Tt & fafim 2 # #7 fawdifd e =
TE T ST B

9.  Explain the following resource management techniques :

() SGE. ®)
(iiy PBS. (8)
Frefafiag SOnA ToE qEART SR RO
(i) SGE.
(iiy PBS.
20143/50/KD/340 4

Roll No. ..o - Total Pages : 4

BVSD/D-19 20143

CURRENT TECHNOLOGIES
Paper-BVSD-51

Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt any four questions out of remaining eight questions.
Az Fo dfa vl F IR difeT) v 9. 1 o ) dm e
a3 weAl H ] el w y % 3w e

1.  Answer the following questions in brief :
(i) What is cloud computing? What are characteristic of cloud?
(i) What is hypervisor? Explain its role.
(i) Distinguish between grid computing and cluster computing.
(iv) What is condor? Explain. (4x4=16)
Frefefer vl & s dam # €
() FAST Fn 70 ¥? ST H = fadwand ¥?
(i) TEEER = &2 THE o H = S
i) fire Fegfen aor o wgfen # s wifw)
(iv) FIER (Condor) 0 &7 =TEm FHIC |

20143/50/KD/340/Trans. {PT.0.
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UNIT-I

( ¥E-1)

2, () What are hindrances to adoption of cloud computing?
Explain. (8)
(i) Explain different types of deployment model of cloud
computing, (8)
() FST FRen I F amd F-7 o ¥2 =
Fifse) |
(i) FEE FEIfEN & Aied ¥ du % A= v #
e F:AT )

3. (i} What is cloud stack? Explain the function of each
layer. t:3]
(i) Explain the following services on cloud :
SaaS, Paas, and laa8S. ®)
() TR =F ¥ ToF TR F I A syrem Ff{
(i) FonsT W fr=faias Jamei =t =owem FeT .

Saal, Paas, and [aaS.

UNIT-11
( FE-11)
4. (i) What do you mean by virtualization? Differentiate between
full virtualization and para-virtualization. 8
20143/50/KD/340 2

(i) What do you mean by machine imaging? Explain different

techniques of machine imaging. - (8
() THATEIIR T 3T T T %7 ot AfarenEore aen
- FguemeT § 99 o TR Fifag)

(i) AR TR § 39 Ty wwm €2 AiE g w5 e
THARI T TS HIAT)

Write short note on the following Paa8 frameworks :

(i) Drupal. )
(i) Wave Maker. 3
Frefafad PaaS FHEsh W Wi feomft fofam .
0 g |
@) &% )
UNIT-II1
(¥eE-11)

() Differentiate between parallel and distributed computing in

detail, &

(i) What is web services? Explain the relationship between
OGSA and WSRF. (8

() e A feisges Frgien & 7 foangEs o m
EAIE e

Giy 99 Fad #7=n ¥2 OGSA ¥ WSRE ¥ Heg Wy &
N Fitaa |

20143/50/KD/340 3 [PTO.
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20144

BVSD/D-19
E-COMMERCE
Paper-BVSD-52
Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt four more questions selecting one question from
each unit. All questions carry egual marks.

Compaulsory Question
1. Write short note on the followings :
(a) Explain the classifications of e-commerce system.
(b) What are search engines? Why search engines are used?
(c) Write a note on direct marketing and selling.
{d) What is web rings? Explain. (d4x4=16)

UNIT -1
2. Define e-commerce? What are the benefits of using e-
commerce? What do you mean by B2B (Business to
Business) type of e-commerce? (16)

3. Who are the stakeholders in E-commerce information system?
Explain the benefits and limitations of e-commerce. ( 16)

20144/50/KD/669 [P.T.O.
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UNIT -
4. (2} Explain the significance of online versus drawbacks of
offline payments system.
(b) Differentiate between prepaid and post paid electronic

payment system. (8+8=16)
5. Write note on the followings :
(@) Closed or open security.
(b) Peer to peer payments,
{c) Non cards costs. (3+5+6=16)

UNIT - IIT
6. What is supply Chain Management? Discuss the
characteristics of Supply Chain Management in an
e-commerce environment? (16)

7. Discuss the obstacles associated with adopting e-commerce
system in real life applications. What is the future of
e-commerce? (16)

UNIT - IV
8.  What are the different ways to launch and market your own
e-business? Discuss the role of search engines and web
directories in e-business. {16)

9. Discuss the followings :
(a) News Group and Forums.

(b) E-Business back end systems. (B+8=16)

20144/50/KD/669 2
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BVSD/D-19 20146
ADVANCED JAVA
Paper-BVSD-54
Time : Three Hours) [Maximum Marks : 80

Note : Attempt any five questions, selecting at least one from
each unit. All carry equal marks.

1. Explain the following :
(a) Types of Applet.
(b) Canvases,
(¢) J-Frame.
(dy J-Menu,
(e) Text Areas.
(f) Servlet.

UNIT -1
2. Write Applet code to find the sum and Multiplications of
two numbers in two text Fields while pressing the respective
buttons.

3. Write Applet code to demonstrate all the functions of Applet
life cycle.

20146/50/KD/671 [P.T.O.
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9.

UNIT- I

What are different stream classes in JAVA? Discuss

various Character Stream and Byte Stream classes with their
methods.

Write a program to copy the data from one text file to
another using character stream as well as Byte stream.

UNIT - I

Write Applet code to design calculator using Layout manager
and proper working of "+", "-" and "/ Buttons.

(a)

(b}

(a)
(b)

Write Java Code to copy the text from One Text Area
to another Text Area.

Write Java Code to demonstrate the followings :

(i) CheckBox Group.

(ii) Scroll Bars,

(i) Menu Bar.

UNIT - IV
Write Code for Servlet life cycle.
Write a Swing program to show its life cycle.

Write Java Code to demonstrate the followings :

(i} J-TextField.
(ii) J- Button.
(i) J-Menu.

20146/50/KD/671 2



